Possible Solutions

For this number line, the place values are changing by multiples of 100 every time. The original
hundreds place value in 3408 is 3400. The next consecutive hundreds place value is 3500. The
number 3,408 falls between the two consecutive multiples 3,400 and 3,500.
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3,100 3,200 3,300 3,400 3,500 3,600

For this number line, the place values are changing by 1000 every time. The original thousands place
value in 3408 is 3000. The next consecutive thousands place value is 4000. The number 3,408 falls
between the two consecutive multiples 3,000 and 4,000.
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